1.

R#E7FAN XFA BEEX x 0glg o1

x ZEMELCE. (SHK408, Afk14, Bk195258, C#k29)

(1) x5

(3) —1xaxy

(5) 1000 x b x b

(7)) (z+1) x(z+1) x(-2)

(9) exz—yxyxy

(2) bx2xa

(4) axaxaxl

(6) exbxexaxexb

8) xx4+yx3—z

(10) (x —y) x (x —y) x 120+ 3
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2.

x BZEMLTET. (S0, A1, BR1a32558, Ck24)

1) zx7

(3) ex(=1)xaxb

(5) 10000 x n x n

(M (x—1)x(z-1)x(=1)x (z—1)

9) axaxa—bxb

(2) bxax(=3)

(4) kxkxkxkxl1

(6) zxyxzxyxyxe

(8) x2+yx5—=z

(10) 300 + (a +b) x (a+b) x 15
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RETFAN XFRA BEX x OflE 01 BIEES

1. x ZEMELCE. (SHK408, Afk14, Bk195258, C#k29)

* XFADKR (FE5DEH)

® x#zhEF. #Hl —3xz=-32
@ HFFancEL. Bl ax4=4a
@ 13EMTS. #Hl —1xz=—x
@ XFRHEATL7 7y FIHIZT 2. il ¢xbxa=abe
® ZVEEHETELS. Wl zxzxz=23
® ()TN RF12OXFOLIHKI. #l 2x(z+1) x (z+1)=2(x+1)2
(1) zx5 (2) bx2xa
=5x = 2ab
(3) —1xzxy (4) axaxaxl
= —XY :a3
(5) 1000 xbxb (6) cxbxexaxexb
= 100062 = ab?c®
(M) (x+1) x (x+1) x (=2) (8) rxd4+yx3—=z
=—-2(x +1)2 =4xr+ 3y — z
Y () DFD1IFEBTE R, e T4 T— I3EIETE 2.
9) zxx—yxyxy (10) (z—y) x (x —y) x 120+ 3
=x2 —y3 =120(z —y)2 +3
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2.

x BEMELCTEG. (SH40F, A1 4T,
(1) zx7

=Tz

(3) ex(=1)xaxb

= —abc

(5) 10000 x n x n

= 10000n2

(M (x—1)x(z-1)x(=1)x (z—1)

—(z —1)3

(9) axaxa—bxb

:a3_b2

© -

Bik14r 258, C#24)
(2) bxax(=3)

= —3ab

(4) kxkxkxkxl1

(6) zxyxzxyxyxe

— 2y322?

8) ax24+yxb5—2z

=2x+ 5y — =z

(10) 300 + (a +b) x (a+b) x 15

=300 + 15(a + b)?2
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